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Question Number : 1 Question Id : 5244763501 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The term cell was coined by
VO B DR DI D0 TD?

Options :
1. Robert Koch
. O2RSS
2. Robert Boyle
A O AL AY S W)
3. Antony Van Leuwenhoek

ES0ETR) T LB VS



4. Robert Hooke
OO RN

Question Number : 2 Question Id : 5244763502 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

states that many diseases are caused by microorganisms due to their growth and

replication.
58,2285 DI DO (DeIHBIIED SHEIOTT ©9E 3°§EEN OISO
20D,
Options :

1. Theory of immunity

B5SEE 38§ By, DT 00

1. *
2. Germ theory of disease
, 55 A3E), B0 DT°OES0
2.
3. Microbial genetics
A7 222690 2 05F QO
3. %

4. Pasteur experiment

a3 )0 (2203700



Question Number : 3 Question Id : 5244763503 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

1s credited with conclusively disproving the theory of spontaneous generation.
@388 €550 VT°0TR) VF )08 80T DORBOD D,

Options :

1. Oparm and Haldane

2,57°0& 0O FBS
1. #
2. Francesco Redi
N CUNA LY e e
3. Eldredge and Gould
| BE B TO
3, %
4. Lous Pasteur
L CXFONN I3 )0

Question Number : 4 Question Id : 5244763504 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



In Whittaker’s 5 kingdom classification. all the prokaryotic organisms are grouped under
DTIED TdNEY, 5 8o 5085, @) 1P 5e38 22sen  8odd Do
D ODDTFON

Options :

1. Monera

v AR O°
2. Protista
ENLADY,
2. %
3. Fungi

3 % ?’3@0@?@&

4. Animalia
€9 ) AT E) Q3T

Question Number : 5 Question Id : 5244763505 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Plantae consists of

0T EDA B0EN08,

Options :




1. Uni-cellular organisms

Lk 08880 2259en

2. Multi-cellular organisms
- 2230P-8a 22690

3. Prokaryotes
. SO

4. Heterotrophs

rBOETD)

Question Number : 6 Question Id : 5244763506 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

found 1n extreme saline conditions.

BNV 636 HOVER O EHFID 0.

Options :
1. Eubacteria

Cﬁ)j“&j‘é@@fm

2. Archaebacteria

Lo ©02r800sy



3. Cyanobacteria

Lx Srgtosr
4. Mycobacteria
L 3805

Question Number : 7 Question Id : 5244763507 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following are valid factors to the demerits of the two kingdom classification
proposed by Linnaeus?

) ON (HBTA0DS BO T2 s> 508G Ty, Earerdd BoHe3S O
TIENZFEN OO 55 eN?

1, Slime molds resemble animals in one phase of their life cycle and plants in the other
phase.

VD D ) a3 B ed B0 2,8 BHFES” 23068690 BTN HFE SIS’
BNEY O ) GOLTOW.

ii.  Euglena has features both of plants and animals.

ONFT"S” S0E)e0 OO 2306890 O £T°eN) ™) OW.

111, Clamydomonas is autotrophic but has flagella.

SaNE BR e8ES €5 08 NS T DN G0N0d.

Options :



1. 1and 11 only
1. % i

2. 1and iii only
2. % g

3. 11 and 11 only
3 % 4

4 v 4 1iiandiii
Question Number : 8 Question Id : 5244763508 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response

Time : N.A Think Time : N.A Minimum Instruction Time : 0

Cyanobacteria also known as

2528805 Q) ST ©OEFT.

Options :

1. Brown-algae

1. ® L?Tﬁ-@ﬁ

2. Yellow-green algae
L D0D-esFode) e
2. |
3. Red-algae

B&-6S



4. Blue-green algae

e0-e850:079)) e3S

4. v

Question Number : 9 Question Id : 5244763509 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The cluster of polar flagella called .
D oI NL° ABEY S0 S e90exr.

Options :

1. Monotrichous

e O3

2. Amphitrichous
- OSPON|E3t5R

3: S]J—DII‘]C]lDll%
Lo O

4. Petritrichous
L 33D

Question Number : 10 Question Id : 5244763510 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



Pick up the reason that now Cyanobacteria are kept in Monera and not in Plantae.

DS2rE0 01 FOBIES THOE IrTO°SS BOETIE SET), JOTNE0R.

1. They are prokaryotes
3 |O5°D 5N

. They are not a type of photosynthetic bacteria
0 2,8 BE 8BRS HDOTITHIEAD 27 §5OAST

111. The cell wall of Cyanobacteria has peptidoglycan

DS2rEB 05 BEy DS S DIBVSS S0EN0O

iv. They can fix atmospheric nitrogen

@) PTG 523D VBB

Options :

1. 1andiv only

) 2. 1and i only

; « 3. Liuandi

. 4, 1.11. 11 and 1v



Question Number : 11 Question Id : 5244763511 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

A virus consists
2,8 BB A G0tNOod

Options :

1. Cell wall and nucleic acid

O 75 0O 358 00S e8eD0

1. ®
2. Protem coat and cell membrane
) 18°€3S 8% 0B Eed €6 8290
2.
3. Protein coat and nucleic acid
. 18538 &e SO Srrs8ons aird &
3. -
4. Protein coat and cell wall
L BPESS BN B0 DS s

Question Number : 12 Question Id : 5244763512 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Pick up the correct statement about a virion?

SO0DS HOOD DTS 1HEEISD DED TOHOGE?

Options :



1. Lysogenic phage

SIEIE s

-2

Lytic phage
Se38 0eS

)

An nfectious and fully formed viral particle
Lo 28 @0ENTEE HBAM sYOMT GBS SES 880
4. The viral capsid
OO 52505

Question Number : 13 Question Id : 5244763513 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Bacteriophages are viruses that live in

28O T 0B &S’ ASIVOT AW
Options :
1. Fungi
. 2oGTen

2. Bacteria

aj°§6c365"

2.¢



3. Plant

Lx S8
4. Ammal
L% 2306800)

Question Number : 14 Question Id : 5244763514 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The leaf curl disease in Papaya 1s due to
5y €880 H08S 56 580

Options :

1. Viroids
. Boowd)
2. Bactena
- 233605
3. Vims

DO
.=

4. Mycoplasma

DE T



Question Number : 15 Question Id : 5244763515 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

1s not involved in binary fission in bacteria

23 :8805°¢S BSS DD IS’ T 5%

Options :
1. Cell elongation

00 8PN

2. DNA duplication
, x  DNA G800

Spindle formation

Z0CNB DT®EIO

T4l

3.¢

4. Cytokinesis
?QGSE SPAFATN

Question Number : 16 Question Id : 5244763516 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following is a colonial alga?
80HTE3S Ee5AANS 5B DE?

Options :



1. Chlorella

2. Ulothrix
&S |65)
2. %
3. Spirogyra

3 ® ?0:66;660

4. Volvox

RGN

4. ¢

Question Number : 17 Question Id : 5244763517 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Isogamy is found in which both gametes are non-motile.

&2 1800 73S DOH TN °R-3I0BS EDNS aeS” P
EAN2B007?

Options :
1. Clamydomonas

Lk TETRR

2. Spirogyra
SN eaion



-

3. Fucus
sx oSS

4. Volvox

NIONN

Question Number : 18 Question Id : 5244763518 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Pickup the pathogenic algae that causes infection to humans.
SPSHOZ YTIER ZON0T (OGS e3sB DA?.
Options :

1. Acanthopeltis
Lk oSOV

2. Prototheca
2.9 lEﬁﬂ GSGCTE"SD

3. Cephaleuros
Lk reridwR

4. Chlorella
Soer

Question Number : 19 Question Id : 5244763519 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response



Time : N.A Think Time : N.A Minimum Instruction Time : 0

The science that deals with the study of fungi is called

2DO(TTE eI SONTIE HODO0A0DS FT) 950D e90e3S?.
Options :

1. Lichenology
- S3oreed

2. Phycology
RS

3. Phytology

Lk YO
4. Mycology
Dozeeed

4. 2

Question Number : 20 Question Id : 5244763520 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

is the fungal disease-black rust occurs in wheat plants,

9T OO 7 O-F55 DnEr S S0 68059 DG IBE0O.

Options :

1. Albugo candida
e sTodT



)

Puccinia graminis

)8 QO (TR

2.

3. Claviceps purpurea

3 % 5P o)) DB
4. Melampsora lini
x0TSO

Question Number : 21 Question Id : 5244763521 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Agaricus 1s ;
OTOER RO .

Options :
1. Edible algae
1 BIBAS 33
2. Edible fungus

L BSOS HORD

Ly

Non-edible alga
T S-)B20S 3

3. %



4. Nomn-edible fungus

SITAE DN B HOHD

Question Number : 22 Question Id : 5244763522 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

is the network of threads called hyphae that helps in growing mushroom.
6 DTN OG0T DsFADITE 2770 €O DENSIDT
BEO N0}
Options :

1. Stipe

= =
Dod

2. Hymenium

- V0O
3. Annulus
Lk OOV

4. Mycelium
Ly DO

Question Number : 23 Question Id : 5244763523 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



Which one of the following is the bog moss?

806 ¢35 50 T DO?

Options :
1. Marchantia
PR oA (e Tl
2. Sphagnum
NIV WA e RY SV
3. Riccia
3 % B8 yasr
4. Funaria
L% @000

Question Number : 24 Question Id : 5244763524 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Hepaticopsida also known as .
23S €9 S07CF° DN,
Options :

1. Mosses
R e AV BV




2. Homworts

L 0YTQ)
3. Liverworts
- OadBs3QeN
4. Notothylas
L x OETOD

Question Number : 25 Question Id : 5244763525 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Antheridium 1s sessile 1in

S0TOBONO ¥ DOLNS GOENOE?

Options :
1. Pteridophytes
Lo DBEDE)

2. Bryophytes
EACVUIAR

-

3. Gymnosperms
L x B3P0



4. None of the above

Lx S0 5D

Question Number : 26 Question Id : 5244763526 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

In Pteridophytes. phloem is does not contain .

BOE DS A EOR S0cdD.
Options :
1. phloem parenchyma
e SODD HOZ ST
2. sieve cells

_ 2303¢% Segren

3. Dbast fibres
E o=
Lx QDO
4. companion cells
v QS Eearen

Question Number : 27 Question Id : 5244763527 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which among the following is the tallest tree?

806 3 IBS TEW DO?



Options :

1. Pine
1. ® ?O_:\](S

2. Red wood tree

IO I8y TEY
2.
3. Cycads
Le 56
4. Deodar
s DHT0

Question Number : 28 Question Id : 5244763528 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The type of root in Cycas is called

VFVESR EFE S5 0L,
Options :
1. Mycorrhiza
=5
v S 023
2. Taproot
EF oD

2. 8



3. Fibrous root

A OV
3, %
4. Coralloid root
Lx  SOTond &

Question Number : 29 Question Id : 5244763529 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

In gymnosperms. megasporangium also called

2307 02065, T HTOACHO & Q) S5 DENND.
Options :
1. Male strobili
ST

2. Nucellus

QAP OO
2. \‘..:4’? il Lagl

Lad

Cypsela
V)

4. Seed
25



Question Number : 30 Question Id : 5244763530 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

are called as “botanical snakes™.
QD "SEFAED TNEN"  90EF .

Options :
1. Pteniddophytes
BOE NN
1.¢
2. Bryophytes
12233 E)
2. % i
3. Lichens
SR 2L
4. Fungi
\ 2Oo5en

Question Number : 31 Question Id : 5244763531 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

In monocot stem. the pith is made up of cells.

BrSEES 0%0S . DS oS SrroO0DG06.

Options :




1. Parenchyma

. DO
2. Sclerenchyma
s 0).000N"
3. Collenchyma
SEDFVAT
3% g
4. Tracheid
4. % @jﬁéé

Question Number : 32 Question Id : 5244763532 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Generally a plant has types of meristem.
TG0 2.8 Jgy S 3570 DOV SOLNOE.
Options :
px L2
R
A 3

3. %



sv B4

Question Number : 33 Question Id : 5244763533 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Pick up the incorrect statement about apical meristem.

DDED DB MHOOD 85 1DEEIN DOTHT 0.

Options :

1. Tt helps to increase height of the plant.

28 BN ABNEY DD DOITERE eI ODDCERDOE.

], ®
2. Ttincreases thickness of the plant.

v 20 B0E). A3NE); NOTR) NOTNEOA.
3. Found in root and shoot tips.

Lx O0ES SOAIN &3S DETeS EHFDGBOR.
4. All the above.

4. % Eéé&

Question Number : 34 Question Id : 5244763534 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Xylem helps n to different parts of the plant.
Xylem G308 A30E) 0addd 2XTTedE) &S’ DIFODIEER0E.



Options :

1. Transfer food synthesized n leaves

BB’ DOBNE TAVDGS 35550 2O DANOS

2. Transport of water and minerals

% BT DA Beed
2.¢
3. Transport of water
L S
4. Transport of minerals
. D) He
4.

Question Number : 35 Question Id : 5244763535 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

1s the chemical content that present in the walls of the cork cells to make the water
and gases of the cells impermeable.

RO 570y, FeTred FGOS S0T SRIONN NP0, A Eeared KD
SDBAN TANYEID €560 TISOT TDROD.

Options :
1. Cutin

. 8BS



2. Lignin

- O
3. Suberin
™ BN FAIOTS

4. Both lignin and suberin

ORY® DB 238 BOT

Question Number : 36 Question Id : 5244763536 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Among which growth. the girth and thickness of the plant is increased.

De3S” 2 DDA, InE) TWNE) THENTO e DO SN0

0MEDOE?.
Options :
1. Primary
1. ® lﬁi}tc’j;ljé
2. Secondary
Lo 80D
3. Tertiary
ﬂ%@@(ﬁo



4. None of these

DE36S” DE S

Question Number : 37 Question Id : 5244763537 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Exchange of gases between air and internal tissues of old corky plant stem occurs through .
29765 5°0). B0E) P00 ABEY, ) OO ©0edded Eeaesrered 5065 TFOINYE
O NG o 50° 230D 0E.

Options :
1. Lenticles
- S0e38D )
2. Cork
. 5°0),
3. Guard cells
3'% D D)
4. Pits

4% HoEIEN

Question Number : 38 Question Id : 5244763538 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



Amnual rings are formed by activity.

08 Heorasren SPOSTIOED T3° 50 DO ) CHETON.
Options :
1. Xylem
L« ESO
2. Cambium
- 5P02)000
3. Phloem
& =3
NP S{OL SV
4. Vascular bundles
L 70 &en

Question Number : 39 Question Id : 5244763539 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Commercial cork is widely obtained from

Zs0000O 500, 0GB DR YBHOMT FPOSDGBOE
Options :
1. Quercus
E{OAS

1.v



2. "Sahx
DI

2. 8

Solanum

fad

4. Smilax
0ers)

Question Number : 40 Question Id : 5244763540 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

is the strong, dark in color and dead part of the wood.

OO TEY INEY DO, SN BOMH sDBAIN LIJFON 27K0.

Options :

1. Heart wood

v DO 8,
2. Sap wood
- P EOD

3. Medullary rays
0D 8Segren



4. Outer bark
% 2200¢3 235

Question Number : 41 Question Id : 5244763541 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Bionomials with identical genus name and specific epithet is referred as

2,8 DS 23263 B 0O DO e HE0 EOBS TBIS AD OGS

T Q).
Options :
1. Basionym
1 PATSEARSY
2. Homonym
ESLUISVRNISY
2. %

3. Synonym

- NDT*EANDA0
4. Tautonym

Question Number : 42 Question Id : 5244763542 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



15 called herbarium.
Q TDYOONO 90EF .

Options :

1. Collection of plant specimens
080 Sre) G

1o

Collection of medicmal plant specimens

ZAL B0B) > 5707 SN

3. Collection of dried plant specimens

IR [ele AV 080 dedarmred 8GR

4. Collection of herbs
Sre)Ee) o

Question Number : 43 Question Id : 5244763543 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

According to . Liliopsida 1s divided into five sub-classes.
195°30, B33 )3 50N Cred-dT T 22322050 B0A.

Options :
1. Engler and Prantle
Q010 DOASW (0D



)

Bessy system

Tad

Hutchinson system
3 % SPIRIA 950

4. Cronquist system

Question Number : 44 Question Id : 5244763544 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

ICBN stands for
ICBN 90T

Options :

1. International Class of Biological Nomenclature

ROV DD TR &8 DATTETrBES S DY, 0

2. Indian Code of Botanical Nomenclature

L x DEFIES s0ESe0 TRE 273305 6

3. International Code of Botanical Nomenclature

L SErES TrnEdeao Ghod) @osgrach §6



4. Internal Code of Botanical Nomenclature
L x OIS T0EBE0 3By 05065 &6

Question Number : 45 Question Id : 5244763545 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The smallest taxonomic group is
963 D) 905Bd HNTHFO

Options :

1. Family
L% Botno0

I

Species
SRV NSV

3. Kingdom
Lk 050
4. Class
Lx SOND

Question Number : 46 Question Id : 5244763546 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

nomenclature was introduced by Linnaeus.

%0850 T AN T°50° (D34 QDB0D.




Options :

1. Monomial

L xS0 aDOHO

2. Binonual

- AR )
3. Vemacular
2080500
3. %
4. Polynomial
L% 2263008

Question Number : 47 Question Id : 5244763547 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Pick out the correct plant which has epidernus specialized to absorb moisture from air?
) QO SN (HaroD (DE35865 EORD DNTWOIR C5ad) DT BNEYa
DO 0R?
Options :
1. Vanda
1. ¢ 0d0C

2. Jussiaea

2¥0)od



3. Avicennia

€90) W) O3®

4. Rhizophora
BE o

Question Number : 48 Question Id : 5244763548 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The family Asclepiadaceae 1s also called as :
Asclepiadaceae 50€0027) ) 50T @OLF .

Options :

1. Oil weed family
AR Ee0) 000220

2. Milky weed family

- 0O, ) F0EN02>0
3. Latex fanuly
. T8 ) SoeN000

4. Wort fanuly
S'Q 59000



Question Number : 49 Question Id : 5244763549 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The botanical name of castor oil plant 1s

3530030 B0EY O3EY FEFED o

Options :
1. Euphorbia pulcherrima

- QNOEEB YOI )3 )8l
2

Euphorbia antiquorum

,w  OD0grO O osroe3sdo

Euphorbia nerifolia
O3B YA DO

)

4. Ricinus communis
b OO e

Question Number : 50 Question Id : 5244763550 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

is the modified structure of calvx in Asteraceae.

ORE SRTVS’ TOF ) TWNE), DIBOD DT*E0.

Options :



1. Sepals

5
. VOO
2. Pappus
W, =,
2w POV
3. Caducous
3 % SO

4. Polysepalous
L TORDOD

Question Number : 51 Question Id : 5244763551 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Chia seeds are obtained from

2O DTN DNOG @”écﬁac‘é@mm.

Options :

1. Salvia hispanica

) OS5 SIS

1.¢

2. Salwvia officinalis

e SO5° E9DVDOD

2. ®



-

3. Satureja montana
DD IFOLF®

4. Satureja hortensis

Lx 0D HTII

Question Number : 52 Question Id : 5244763552 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

family having unisexual flowers with parietal placentation.
T SOES F0VIARS FO0H Yol EOR tsd) £0E0020
Options :

1. Cucurbitaceae

RPN MORTATS

2. Cruciferae
2 k3 L§01 ?\J—_‘b(jo

3. Orchidaceae
x0T

4. Euphorbiaceae

Lw O80T



Question Number : 53 Question Id : 5244763553 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Endosperm of young fruits 1s edible in

05069 0 OGN0, S BIBAIE.

Options :

1. Borassus falbellifer

ST B0

2. Cocos nucifera
TR ATERTD0”

Areca catechu
;% ©OUS BTOD

Tl

4. Nypa fruticans
Do [3I°€3 5D

4. % =

Question Number : 54 Question Id : 5244763554 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Erect. unbranched stem with distinct nodes and internodes and with jointed appearance 1s called
QLT T, TN BA) 5F0C0 (DBLEVD SN DO ROLDSBOSE OGN
2220008 A, 88 G0N0

Options :



1. Runner

- 850
2. Caudex
. 8°38)
3. Sucker
. Q%0
4. Culm
VR :(9);

Question Number : 55 Question Id : 5244763555 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

In Poaceae family. unisexual flowers are found in

DR E0€0023065, DEDOH )0 S EJD008.
Options :
1. Rice
NP Ao (e
2. Maize
» 080



-

3. Bamboo

3. 3(:’1)(53

4. Lemon grass

4. ® {Q‘:ﬁ)é ﬁé‘?

Question Number : 56 Question Id : 5244763556 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

In plants, metosis takes place during formation.
[nE)0, DA DBIT DA 235D EB0E.
Options :

1. Ovary and ovules
0TE*FANO DO WOTF"EeN

1. %
2. anthers and ovules
i} a)EEN LDBAN OTEeN
2.
3. Anthers and pollen grains
)EIEN SDBAIN )FEd DEWHEN
3. %

4. Anthers and ovary
)REN DO WOTEFANO

4. v



Question Number : 57 Question Id : 5244763557 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Immature anther is made up of which is covered by a layer of the epidermis.
e9H0NE 5 HS & ErFOAOIDBOA. A 23750 BE), PSS
80208 G50N0A.

Options :

1. Aerenchyma
% Nelel AN

2. Pores
Solren

-

3. Parenchyma
DO I

4. Meristematic cells
O VESE Segren

<

4.

Question Number : 58 Question Id : 5244763558 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

constitutes Stomium.
FODO D EOA S0e0A.

Options :



1. Microsporangia

- DE S BN

2. Meristematic cells
. DO VIESE Segren

2.
3. Hypodermal cells

Lo TS Serew
4. Pollen sacs

s QST LOTIIEN

Question Number : 59 Question Id : 5244763559 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the following in that two layers of anther wall contain large cells.
DE {FCd A308) BOCH BN DR earerdd DA GoTer 806 °¢3Q oS 0d.
Options :

1. Endothecium and Tapetum

NOETIONO sHOCI EF EIeD

1. v

2. Endothecium and Middle layers
DOETOON0 SNBAN s FSen



3. Epidermis and Tapetum

. DBO D DB €37 I
4. Epidermis and Endothecium
) DDTHR SNBAN OB TOANO

Question Number : 60 Question Id : 5244763560 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Flower with both androecium and gynoecium is called

0|00 SNOON BeS OO BOGRT €55) 50 5o e90E3.
Options :
| Multisexual
2263000
1. ®
2. Asexual
©e3008
2. %
3. Unisexual
2EDOH
3, %
4, Bisexual
& 5O

4.



Question Number : 61 Question Id : 5244763561 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Out of four megaspores. three degenerate and one functional megaspore develops mto the

f v ! Oy wd o, L4
0D TP, $07°¢ 8 500 SHOAW 2.8 HOE IS mrar)6 mw
292)99 @ DO,

Options :

1. Embryo
D00

2. Endosperm

) DOE 62
3. Embryo sac
DO DOV
3.¢
4. Ovule

. ©0TEEON0

Question Number : 62 Question Id : 5244763562 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

1s the largest cell of the embryo sac.
250 DO 03 E80




Options :

1. Central cell
VOO DO

2. Chalazal cells
ZHere3® egren

2. %
3. Synergid cells
- G Segren
4. Micropylar cells
L DIE 0 Seren

Question Number : 63 Question Id : 5244763563 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Pollen tube growth is influenced by :
PG FEFre> DS 0O SO (20275606 E00 .

Options :

1. Scherenchyma

BT IS

2. Obturator
€9205DED

2.¢



3. Parenchyma
DOVD Y
3. % i
4. Meristem
DO oD
4.% &

Question Number : 64 Question Id : 5244763564 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

1s also known as Generative fertilization.

Q B3V VESZA® 9 SI°TE° ©90EF.

Options :
l. Syngamy
L Q0D
2. Apomixis
a8 Y
2. %

3. Vegetative fertilization
Lx QT HOAEB0

4. senescence
T o
Lx Q9SO



Question Number : 65 Question Id : 5244763565 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Androecium represents the male IEpmduLtlve unit with a collectionof

Androecium EGRSE A DSBS YE3 CTVE D nij"tjc\m:}éfb

Options :

1. Sepals
N SN

2. Carpels

5039)

2. ®

3. Corolla
L. SO

4. Stamens
v 3TTew

Question Number : 66 Question Id : 5244763566 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

is the region of cell contains water-like substances with dissolved molecules and
suspended in them.

X200 A30E), 1297050 60 @)D AE3 €03 DT e EOA
S0ENOA HOAN a7¢36S AEINS AN OE.

Options :




1. Matnx

. €88
2. Cystol
L x  OFO
3. Cytoplasm
. S rso

4. Protoplasm
1S 230

4. %

Question Number : 67 Question Id : 5244763567 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

At atmospheric pressure, the water potential is equal to

TIBED D0 3D, V3 G50 8 HATD0.

Options :
1. Matrix potential
A58 D02Ta5ed

2. Solute potential

_ L3099 02T 05¢eH



4D

Gravitational potential

e (50 HoeTssed

4. Pressure potential
DS HO2FI5eh

Question Number : 68 Question Id : 5244763568 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

is the reversible phenomenon.

90 855020 S 520N0.

Options :

1. Imbibition

Q02)2)NDQ

1. %

2. Flaccidity

. e

2. =

3. Turgidity

e 00663

4. Plasmolysis

e, )2
iy 2 ROV



Question Number : 69 Question Id : 5244763569 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following elemental deficiency not responsible for delay flowering?
806 ¢3S ) sTexE €570 3D SO sYoL)OITRE SB£90 F°CN?

Options :

1. % s 8

2. % 2. N

e > K
4. Mo

4, ®

Question Number : 70 Question Id : 5244763570 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Pick up the incorrect function of Chlorine.
§8S B 559 D0E.S DO A.

Options :

1. Pollen germination

DPIB 90F08 e e

1.v



2. Maintaining anion-cation balance

SIS NOA FEIAITAS 2FEE3R)) O LaFOTIBR0

2. %
3. determination of solute concentration
- 129%963 50|58 TBNE) AQOHO
4. Oxygen evolution in water splitting reaction
) QeI D253 B’ @38 23S HBETVO
4.

Question Number : 71 Question Id : 5244763571 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Transport proteins of are control points where a plant adjusts the quantity and types
of solutes that reach the xylem.

TB0EY, (EFQIFD |E3Se0 DADHO(ESED )00, BE) ¢ 2.8 ),
2S00 DO [E3°967°€) DOTEIO OO G570 QADZFEND DO,

Options :
1. Epidermal cells
- DNTIHIO eFren
2. Cortex
595



-

3. Endodermal cells

- DOETBELS Eearen
4. Root hairs
Lx Ore Joensen

Question Number : 72 Question Id : 5244763572 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

is the mechanism that prevents photo-oxidative damage in plants.

9O B0E)S T -e38 188589 TR ATFOOT CHOE0H0.

Options :
1. Photoprotection
I TES
1.v .
2. Phytoprotection
. 1 BES
2.

3. Photorespiration

Lk SFETBRNBAS

4. Phytorespiration

2 TOYDAD



Question Number : 73 Question Id : 5244763573 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

is the well-known process by which plants use sunlight, water and carbon dioxide
to create oxygen and energy.

900 @832 SNOOIN $5Q DYROTITTRE FnE) e BB, D
SDBAM 5GBS BATEIED IR0 (DD |DBO%.

Options :

1. Oxygen evolution

@38 32300 DBETNO0

1. %

2. Energy conversion

38 50 B

2. % "

3, P]l}TDSVIlﬂlESiS
A AR Stelars

4. Photosynthesis
\ v 8023005 DOA3THIEAD

Question Number : 74 Question Id : 5244763574 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



C4 plant have the special type of anatomy of leaves is referred as

C4 308) e350e> A3 10358 357 T Q.

Options :

1. Calvin anatomy
57 £ ORI

1 ®
2. Kranz anatomy
157025 @9eT oD
2.¢ )
3. Vascular anatomy
Lk 0D TN
4. Mesophyll anatomy
L DDIFDS 9T I

Question Number : 75 Question Id : 5244763575 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

In C3 plants, the Calvin pathway takes place in
C3 oS, 58S o &S’ 225508,

Options :




1. Sieve cells

. 236365 Seren)
2. Mesophyll cells
- DAFDO EeTren

3. Epidermal cells

3 DTBOIO eFren
4. Bundle sheath cells
. 2050 30 Segren
4.

Question Number : 76 Question Id : 5244763576 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which among these is the only product in cyclic photophosphorylation?

DEIS’ 8B ST FITTASES” B53) DBE 5653183 DE?

Options :
1. ATE
o  ATP
2. ADP

2. % ADP



3. Oxygen
Lx B8H)B

4. Hydrogen
EBS

Question Number : 77 Question Id : 5244763577 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0
According to Peter Mitchell proposed theory. in which process the pH gradient across the
membrane provides energy for the synthesis of ATP is referred as
288 WTS (HBTE0DS D050 (DTE0, & (HEAHES & 0 OBeT pH
(99636965 ATP DOBNEE) 95 90O 0BIER) DeN0ETH?.

Options :

1. Diffusion
50

2. Chemiosmosis
@&@Tﬁﬁxﬁj

2.

-

3. Transportation
Oe



4. Phosphorylation
TFIBBA®

Question Number : 78 Question Id : 5244763578 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

FO 1s which 1s present in Complex V of electron transport system.
FO 2900 DO TR Seled 095030 ABE), SP0 w5 VES €0e00H.

Options :

1. Peripheral protein
e DB (¢3S

2. Cutaneous protein

235200205308 183

2. %

3. Integral protein
Lo QT IBESS

4. Embedded protein
L Q0BBE 138
4.

Question Number : 79 Question Id : 5244763579 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



is the favoured substance for plant respiration.

30820 F=LIBONZY €9NETO RS DTTQO.

Options :
1. Sucrose
1. S mLsag
2. Glucose
- (9765
3. Lactose

Lx TER

4. Mannose
NP SRS

Question Number : 80 Question Id : 5244763580 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which among the following is not essential for the TCA cycle?
TCA SSV8 808 573 OO @93S30 BEN?
Options :

1. Continuous replenishment of Oxaloacetic acid

Oxaloacetic G52 T30, DB0eHS 250



2. Regeneration of NAD+

L« NAD+ 3308 s)dtes &3
3. Regeneration of mallic acid
JA7OE ASFE SBdes e
3.¢¥
4. Regeneration of FAD+
) FAD+ G308), 8)ed&0eh ye3
4.

Question Number : 81 Question Id : 5244763581 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The gaseous plant hormone is

050 B0EY O SIS
Options :
1. Ethylene
2. IBA
2. %
3. NAA



4. Abscisic acid
e92) Y08 A&

Question Number : 82 Question Id : 5244763582 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Auxin concentration 1s h_'l‘:'llfl 111
& 381 TPChed B0y S0EN0S,

Options :

1. Vascular bundles
SV X IS RLATIN

1, *

2. Stems

e

. 500

3. Leaves
\ es50e0

4. Growing tips
L 20MDERND) tips

Question Number : 83 Question Id : 5244763583 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



hormone 1s involved 1n stressful conditions.

IS 2.BES EFGS HBVAOS 3T 0ENOE.

Options :

1. Auxin
- @8 Yo

2. Ethylene
Lx AOOS
3. Abscisic acid
- €92) )08 ARG
4. Gibberellic acid
N ﬁE;@@g Ao

Question Number : 84 Question Id : 5244763584 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Absolute growth rate means
DOY IO VED 0T

Options :

1. Measurement of total growth

20050 DA BE). §ered



12

Measurement and comparison of total growth per unit time

OTRE DeAITAE T0 SN A3y, Tered B FDE

2.

b

Measurement of total height
[NB0 D) D). Tered

4. Comparison of total growth
BN 99O P

Question Number : 85 Question Id : 5244763585 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

is absent in animal cells but present in plant cells.
22068 ST BN 5 F0EL e TS’ SN0

Options :
1. Cytoplasm
. S T230
2. Nucleus
Aore8aHD
2' % &
3. Cell wall

Lo OOHG



4. Golgi apparatus
FE) 50880

Question Number : 86 Question Id : 5244763586 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Among which,was not considered by Mendel in his experiments on pea.

HE3ES T S (DTS D HOBS JHORBOIT.

Options :

1. Trichomes — gradular or non-grandular

SN - (P50 B rm-TTPOCRH 5D

1. ¢

2. Stem — tall or dwarf

SPOCH0 - S BT DB

Seed — green or yellow
Lx OB - 83005 BT D)

Tad

4. Pod — inflated or constricted
I - 0D BIE L0O0IDAS

4. %

Question Number : 87 Question Id : 5244763587 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



GDP stands for

GDP @0
Options :
1. Good Domestic Price
00 TAOH A
1. %

2. Good Delay Price
200 D50 G

2. %
3. General Delay Price
} P06 050 OO
3.
4. Gross Domestic Product
Qre> T3FO3ed e
4.

Question Number : 88 Question Id : 5244763588 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Pick up the incorrect option that is not included in germplasm collection.

235, 230 ESES TSI 65 DODED DONEOS.

Options :



1. Pure lines
Q5L DOZYEeN

2. Diseased varieties

, e 5O O5en
3. Wild relatives
€9¢3a) 2)050)EN
3. %
4. Old improved varieties
% aed DN O5Pen

Question Number : 89 Question Id : 5244763589 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Emasculation refers .
MNVVETS TN Q AFDDOA.

Options :

1. Removal of male parts from the future female parts

v ,gl ! w o
) 2302563 | W 23T A0 oD 2T X000
1.

2. Removal of female parts from the future male parts
W, o, o, -é' L4
23005 YV 23T ADOEG | 2T S eA0TIC0



3. Removal of stigma and anther from a plant

2,8 B8 0G EF080 NBAM )EN SeR0THC0

4. Removal of all parts of the plant
S0 O3E) ) 27TTed BedB0)

Question Number : 90 Question Id : 5244763590 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Semi-dwarf varieties of wheat in Mexico was developed by

EIES” -3°50 ) 357> FCNNOD €92)d9® DT
Options :
1. M.S. Swaminathan
} 0.0, AI° £
1.
2. Kush
) % SV

Norman E. Borlaug
T3S @ SO°h

(a2l

3.¢¥



4. Gregor Mendel
113050 DoTO

Question Number : 91 Question Id : 5244763591 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The earth is an open system with respect to

239°%500 8 Q020HOW) 2937000 23500
Options :
1. Energy
Le %
2. Organisms
- 23590

3. Chemicals

Aarrod e
3, %
4. All the above
e 20

Question Number : 92 Question Id : 5244763592 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



Biodiversity hotspots are the regions which possess

2293055 TP DA &) |T0TeN

Options :

1. Diversity

BIIEO
1. ® = -
2. Rarity
- ONTO
3. Endangered population
90530 2302
3. %
4. High degree of endemism
L O PO V8 H

Question Number : 93 Question Id : 5244763593 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The natural occurrence of each organism is called

1003 233) ABNEY De3*e3 0BITR), e90EF .
Options :
1. Habit

% €9C)6"E)



2. Habitat

- NN le)
3. Adaptation

Lx €90
4. Biome

4% 23037%0

Question Number : 94 Question Id : 5244763594 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

is the ratio between energy flows at different tropic levels among the food-
chain 1s generally expressed as percentage.

29 35558 e sE5 DV BN o> ¥8 |HeTPed
S5 DAE APPSO FHOTT 6958560920,

Options :

1. Ecological balance
DT*5a3OED deddEBICIEED

2. Ecological ratio
D555 DA)ed



3. Ecological assimilation

L D00 HaDEdea
3.

4. Ecological efficiency
‘v D05 RPNQFO

Question Number : 95 Question Id : 5244763595 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Ecological pyramids was proposed by

DT"EIGED DB DI |3 Q0TI E?
Options :

1. Charles Elton

.
v 3°00) DQ®

2. Charles Darwin

- 20°0c) @0

3. Charles Sheldon
00 OS

4. John Muir
23 cAONO



Question Number : 96 Question Id : 5244763596 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Biogeochemical cycle is divided into

203 2G3° TDEO HIB0 S DT D320 R0H
Options :

1. Gaseous cycle

L oo

12

Sedimentary cycle
9558 W80

2. %
3. Nutrient cycle
- A8 H 8o
4. Both 1 and 2
, 1 S0OAW 2 Bocday
4.9

Question Number : 97 Question Id : 5244763597 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

1s the process that converts nitrate to nitrogen gas.
BB DE2S S AYT 0°0)) (D(EOH

Options :



1. Nitrification

JE3DBAD
], % R
2. Denitrification
AAEIDTAS
2. B
3. Nitrogen fixation
. Se523Q DEEBeD
4. All the above
x2S

Question Number : 98 Question Id : 5244763598 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

is the largest reservoir of phosphorous.
23 550 O3E), 93D B230°50ND.

Options :
1. Ocean

v NV IS [ Te)
2. Rocks

e OO



3. Atmosphere
Lk OTOO0

4. Organism

r 2

Question Number : 99 Question Id : 5244763599 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Pick up the following microorganism that assists symbiotic nitrogen fixation.
D5 DET 2B VOEBEBY DFFONIT (80O 778228 dohSo .
Options :

1. Nitrococcus

DIETED

2. Azospirillum
- €925°0)80)

3. Rhizobmum

BE2IAN0

3. ¢

4. Pseudomonas
A BT



Question Number : 100 Question Id : 5244763600 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

is the conservation of living resources through their maintenance within the
natural ecosystems in which they occur.

0 285585 390580309 93 H0ZINOT D22 HTEISED 959D’
€3 DG ga3°d TS0 BB 05¢%0.

Options :
1. Ex-situ
- )8 -

2. In-situ

3. Both1 and 2
1 0O 2

4. None of these

DeEIS” DA B



